TMK
HE A AR IEE T HANSAVFLEX

B W S3
%0 1 KSR BT —
BEER 1 mamHR
BO2+3  KEARGERFK
BHEHPR2+3 244

- 1‘_&

CEEE] AR ER
PCEZS iz
Y DIN 2353

1ISO 8434-1
S FHERSNYAAGEE
L ¢ l
RERP AR
7R
BXRE. EA, ENNEAAFHTERENHERCSAERERNEAEL.
@

SR  THEED B

TM 04 LL LL PN 100 4 M8x1K 8 21 11,0 17 9 10
TMO5 LL LL PN 100 4 M8x1K 8 21 11,0 17 9 10
TM 06 LL LL PN 100 6 M10x1K 8 21 9,5 17 9 12
TM 08 LL LL PN 100 8 M10x 1K 8 23 11,5 20 12 14
TM NW 04 HL L PN 315 6 M10x1K 8 27 12,0 20 12 14
TM NW 06 HL L PN 315 8 M12x1.5K 12 29 14,0 26 12 17
TM NW 08 HL L PN 315 10 M14x1.5K 12 30 15,0 27 14 19
TM NW 10 HL L PN 315 12 M16x1.5K 12 32 17,0 28 17 22
TM NW 13 HL L PN 315 15 M18x1.5K 12 36 21,0 32 19 27
TM NW 16 HL L PN 315 18 M22x1.5K 14 40 23,5 36 24 32
TM NW 03 HS S PN 400 6 M12x1.5K 12 31 16,0 26 12 17
TM NW 04 HS S PN 400 8 M14x15K 12 32 17,0 27 14 19
TM NW 06 HS S PN 400 10 M16x1.5K 12 34 17,5 28 17 22
TM NW 08 HS S PN 400 12 M18x1.5K 12 38 21,5 28 19 24
TM NW 10 HS S PN 400 14 M20x1.5K 14 40 22,0 32 19 27
TM NW 13 HS S PN 400 16 M22x1.5K 14 43 24,5 32 24 30
O=EHER - PN=8EEN PB=BATHED - FURFLL=FER =B S=E
FmEHK

TMK VA  SEARBRER T, THY

RELZI T FAFH BB ETEHBRR EERY TTRE X TR BB 15 B BAEAR L AT RIDHE I F Ao
30.08.2024 HANSA-FLEX AG www.hansa-flex.com 1



